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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,045 86,200 41,103 45,097
RIRET1T 6 15 9 6
RIRET2T 25 55 26 29
AIEET3T 185 589 288 301
RIRET4T 402 961 478 483
B 618 1,620 801 819
REH 2,677 5,996 2,794 3,202
L&A 4,313 9,423 4,379 5,044
BE 2,645 5,917 2,861 3,056
B AN 1,313 2,860 1,342 1,518
BERT 1,378 1,951 955 996
BER2T 763 1,369 658 711
BERST 644 1518 729 789
B 2,785 4,838 2,342 2,496
BEXRE 277 652 318 334
= 2,204 4,954 2,355 2,599
hERE 645 1,434 663 771
e 2,470 5,068 2,440 2,628
25 L ET 2,347 5,095 2433 2,662
B &AL BT 76 152 63 89
HEFILET1T 563 1,202 559 643
HEFILET2T 617 1,290 608 682
HEZFILAT3T 653 1,488 731 757
g 1,909 4,132 1,961 2,171
B & it B Fr ET 692 1,556 752 804
BHEREBET1T 582 1,181 569 612
BHERERET2T 769 1,741 839 902
BHERERETST 781 1,587 721 866
BHERERET4T 516 952 450 502
HEKERETST 840 1,691 807 884
HEERET6T 871 1,899 924 975
BHERERET7T 891 1,869 922 947
HERERETST 70 208 102 106
£t| 5320 11,128 5,334 5,794
HEF R FET 1,978 4,125 2013 2,112
S|EFET1T 627 1,580 789 791
S|EFET2T 768 1,738 814 924
S|EFET3 T 734 1,382 639 743
g 2,129 4,700 2,242 2,458
ERE1T 577 1,310 629 681
EIRET2T 385 1,033 515 518
EREIST 512 1,332 652 680
EIRETAT 691 1,464 653 811
EIZEIST 528 1,098 561 537
g 2,693 6,237 3,010 3,227
ME A 2,919 6,259 2,969 3,290
J\THET1T 34 36 14 22
J\THET2T 26 58 30 28
J\THEI3T 51 112 50 62
B 111 206 94 112
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